Area of a Triangle (Trigonometry)

é\

REVISE THIS
TOPIC
1 Hereis triangle ABC. B
6 cm
83°
A 11 cm C

Work out the area of the triangle.
Give your answer to 1 decimal place.

\
4 X b x WL x sin(3R)

QL3 ..

(Total for Question 1 is 2 marks)

2 Hereistriangle ABC. B

b 4.4 cm

3.8cm

Work out the area of the triangle.
Give your answer to 1 decimal place.

)f_ X 4% x bk x S'IY\(LW_)

D6

(Total for Question 2 is 2 marks)
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3 Hereistriangle ABC.

Work out the area of the triangle.
Give your answer to 1 decimal place.

S x A% 9 x sin(162)

[ 2D

(Total for Question 3 is 2 marks)

4 Hereis triangle ABC. B
10 cm @

14 cm

Work out the area of the triangle.
Give your answer to 1 decimal place.

%5 x 0 x4 x sin (30)

:%X\Oxluxl/z

= SX % 35

(Total for Question 4 is 3 marks)

cm?
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5 Hereistriangle ABC.

4cm
13 cm

q

C
Work out the area of the triangle.

Give your answer in the form kv/3 , where k is an integer.

XX 4 x \3 X S'MCGO\
X % x 13X E%

- S22
L4

-
-

_—

|5y

(Total for Question 5 is 3 marks)
6 ABCD is a parallelogram.

cm?

20cm

B_ C
8 S 65°
on R
RN « 8cm
65°
A ~D
20om

Work out the area of the parallelogram.
Give your answer to 1 decimal place.

Vix Lo x € xsin(69) = 32.S 0462290

F21-So462296 % L = I4:5- 00924549

\% 50

cm?
(Total for Question 6 is 3 marks)
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7 Hereistriangle ABC.

The area of the triangle is 350 cm?
Work out the length of AB.
Give your answer to 1 decimal place.

o ('/1x A% X % Sin@% = 250

v | 5in (38) .= FO0O
(- _100

[ sin(3%)

o9 8 .

(Total for Question 7 is 3 marks)

Jx2

8 Hereistriangle ABC.

9cm

A e C
15cm

The area of the triangle is 23 cm?
Work out the size of the acute angle, BAC.
Give your answer to 1 decimal place.

(. Vixax)|S x g = L3 ) x1

NS
X = Sin(\ZS \qol 0

(Total for Question 8 is 3 marks)
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9 Hereistriangle ABC. C

20cm

88°

2L
AB:BC=8:5
Work out the area of the triangle.
Give your answer to 1 decimal place.

20-+:5=4
Bx =132

1% 20 X 3L X sin(8Y)
9. Q

(Total for Question 9 is 3 marks)

10 Here is triangle ABC.
A

X

o ’

AB:BC=1:3

The area of triangle ABC is 123 cm?
Work out the length of AB.

Give your answer to 1 decimal place.

HQ,I/ZX X% b xSin(\04) =123,

rsin (108 = 240
X+ = 14 6
3sin (1OW)

x = \ Tentw 19

cm?

cm

(Total for Question 10 is 3 marks)
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11 OABC is a sector with centre O. A

o< 80° B
4cm /

C

Calculate the area of the shaded region.
Give your answer to 1 decimal place.

Arew d edol = o x T x &
= (- \rolo#2)y
Afea o‘( J(/Yia@c, = '/,L X b x 4 x SM(?O)
= 783846 202¢
N\ — 383 Y

(Total for Question 11 is 4 marks)

cm?

12 AOB is an isosceles triangle with OA = OB
COD is a sector, centre O.

Work out the area of the shaded region.

Area o&/ bR aV\‘S\e, = x | Ixqix Sm(86)
60 15262504

Arean °k secfor = y,oxﬂ)X%

= 4% -0 L4blo]

00-3S...— 4R.03...
\7— ’L cm?

(Total for Question 12 is 4 marks)
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13 ABCDEF is a triangular prism.

The prism has a mass of 0.5 kg.
Calculate the density of the prism in g/cm?3
Give your answer to 3 significant figures.

Area ek Lriongle = Y2 x3x 15 xsin(110)
= 49. 23386289
\l dlum & QJY Pr'\svv\: WA 3. x\L
=~ 592-0063S\

Density = S00 o
S92-0 .cm’

- O&%S%sszz?@/cﬁ

Q-34S gem

(Total for Question 13 is 5 marks)
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14 ABCO is a sector with centre O.

The perimeter of triangle AOC is 30 cm.
Calculate the shaded area.

Give your answer to 1 decimal place.
0- W =1b \6= 1=
CosGO)= R+ B 14"

2% 8%
coyx)= - 0-5212S
x = Cos'(-0-53125)
> > 122-08996513

Area e&’ tn’awﬂ)e= \/Lx%x%xsin (m-o..)
= 3 \0'LL
kcea, vﬁ secbor = B xx Q%
= 1321834032 +6
AW+ 1232-33%.. = 1S9-9%4a2l

\@)OO cm?

(Total for Question 14 is 6 marks)
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15 PQRS is a farmer’s field that is split into two pens.

Q

40 m

Area of Pen A = Area of Pen B.
A fence is placed around the perimeter of the field and along the line PR.

Work out, to the nearest metre, the total length of all the fencing.

Atea e‘; pew k- %,x 20 x 36 % 6in(A9)
= 823945123
“rx 40 x x x sin 4) = S23 9.
10sin(F)oc = S2F q..
x = S3t:9..
20 sin ()

x = L¥-98120113
tl”= 30" + 36— 2Lx 30 x 3bx Los(35)
031': 2384 LSbuo
g = V2384 1S6kok
Y= 48-328848308 20+ Wo+40 +2349.+498..

R

(Total for Question 15 is 6 marks)
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